® & o

DOORS GVERLAP BY GASKETS GNLY. TWO LOCKS REQUIRED
APPROVED SQOURCE.

2 WILLWMSEN NANUFACTURING 1825 W. INDIANA AVE SALT
LAKE CITY, UTAH B4104

3 SEAL ALL SEANS WITH RNV SILICDNS

AHATCH HOLES IN ITEM Il (OUTSIDE PLACE) WITH VAN DOORS
AND ITEM 16 (INSIDE PLATE)

5. AFTER WELDING GRIND FLUSH

/B\ APPLY SOLVENT GEMENT TO ALL PVG FIPE AND FITTINGS
JOINTS

7. USE LOWER CAP (ITEM 17) WHEN VAN IS INSTALLED INSIDE OF
NUMIDIFIER VENT. USE HOSE CONNECTOR (ITEM 18) WHEN HOSES
ARE BEING USED. USE VENT CAP (TEM 18) WHEN TRANSPORTING
VAN TO A NEW SITE

& ALL NEW PARTS WERE ACOUIRED FROM HCMASTER—CARR SUPPLY CD
CATALOG 102 EXCEPT FOR THE ALLUMINIUM PIECES THAT WERE ACOUIRED
FROM TULL METALS,

APLACE LOUVER VENT ON SLING THIS END STENCH SIDE

Rev A A\

[ = -—

1 [ 150 CORNER CASTING 4 [P/ BLR 20100

2 | 150 CORNER CASTNG 4 [P/ BLR 20000

3 | FRONT AND REAR CORNER POSTS| 4 |10 GA 13,44 X 74,75 P/N 103-04-020
4 | BoTIOM BAR 1[0 cA 1131 X B7.63 P/N 103-04-020
5 | FORKLIFT REINFORCEMENT 4|7 cA 1913 X 9456 P/N_103-04-030
6 | CROSS BAR 13[10 GA 7.38 X 94.56 P/N_103-04-020
7 [FLOOR MARINE_GRADE_PLYWGOD

8 | HINGES 3/8 CALV. STLP/N 329-06-225

9 | LOCKING BARS (LONG) 3/4 PIPE 75.50 LONG

DDOR HARDWARE KIT

P/N 329-04-036

DICHROMA, INCORPDRATED
ALEXANDRIA, VIRGINIA
(03] 821-1440

CONSULTANTS

g
5
s
5
11| VENT ASSEMBLY 2
12 [VENT PPE 2
13[1/4 PPE SECTION 4 |@ 4 SCH_40_AL 808118
14]1/2 PPE SECTION 2 | 4. SCH. 40__AL 608118
15 [QUTSIOE_PIATE 2
16 | NSIDE_PLATE 2
17| LOUVER €AP ASSENBLY 2
18| HOSE_CONNECTOR ASSEMBLY 2
19| VENT AP ASSEMBLY 2 -
20[ PIPE 2 [ 4, PVE, SCH. 40. WHITE P/N 48B0KI8
21[colpng 2 |6 4. SOCKET PVC SCH 40 WHITE, F/N_4BBOK70
22| CARRIAGE._SCREW 8 |1/4-20 UNC X 1-1/2 IG_I8-8S5_P/N 02356A4546 U. S. COAST GUARD
23| HEX NUT 8 [1/4-20 UNC. 18-BSS, /N 018454029
24| SOCKET HEAD CAP SCREW 18] 10-32 UNF X 1/2 LG. 18-BSS, P/N 92196A269 CIVIL ENGINEERING
25| ACORN HEX NUT 18]10-32 UNF X 18-B55, P/N 91856A021 WASHINGTON, DC
26| SPRING_LOCK_WASHER 8 | /4 1B-B55 P/N 92146A020
27| WIRE_ROPE 6 | 1/16, STRAND CORE 7 X § X 12 LG. 30255 P/N 3450173
28| OVAL COMPRESS SLEEVES 12[1/16. P/N 3883741
P E——— DRIVE_HOSE CLAWP| 2 [» 5. P/N 43955K72
30| SPONGE_RUBEER STRIP 6 |1/2 X 1/4 THICK, P/N 93625K62
51| M LoUvERS 2 [0 4. WHITE FINISH ALUM, P/N 2016K16
32| SocKeT_aLsow 2 [@ 4, PV, SCH 4D, P/N 4BBOKZ0
EEE 2 [ 4, PVC, SCH 4D, WHITE P/N 4BBOK50
USCG. COMDT G-SEC-2
34| PPE 2 [ 4, PVC, SCH 4D, AL 6061-T6 2100 2uD rRter o
35| PLATE 2 |1/8 THICK. AL 6061-T6 WASHINGTON, DC 20593-0001
TSSUE
o1 [66/01/01 (L7
VeRK | DaTE [ DESCRPTION
[ proueerWe 33—
7171570007
o8
v
e
0" rLoT SeAE
VOSS CONTAINER OVERVIEW
G—-5EC-2C
WASHINGTON e
REVIEWED BY |REVEWED B [REVEWED &Y
CONTRACT NUMBER 0rCG23-81-G-ECT067
TOLERANGES UNLESS OTHERWISE SPECIFIED:
X 2 .
S« o1t Socxx 200"
ANGLES 5 FRGIECT NUNBER DRAWIG NUNBER
RADI 03"
FINISH 125 RS 98— 171 510
DTPLNE/SHT RO
3 4

SHEET 1 OF 3




